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Question Id : 68634010941 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634010942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
D ITH P FIY o1 DY 5T U1
IRCREE R
2. SR dlSHR @Il Ul
3. TeTs P | Ul
4. G AI3-drSHR @18l Ul

Options :

68634043201. 1
68634043202. 2
68634043203. 3
68634043204. 4

Question Number : 2 Question Id : 68634010943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@ B R [Ha o,
1. 93 HIS WeT 7
2. Aol 5
3. foareit 5
4. 98989 A
Options :
68634043205. 1
68634043206. 2

68634043207. 3
68634043208. 4



Question Number : 3 Question Id : 68634010944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AGP 7 AT T UIS TTeT ST 91 B IAD
1. AGF P SR BHd gin
2. &R @Md g
3. U= ferad gman

4. 319 Qid 9@l

Options :

68634043209. 1
68634043210. 2
68634043211. 3
68634043212. 4

Question Number : 4 Question Id : 68634010945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OE® 3R 3D YTg Bl g HIg - o1 ®IH feam
. UgTS PR Bl
=gl sra &1
TS BHRA BT

4. 319 TH BT
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Options :

68634043213. 1
68634043214. 2
68634043215. 3
68634043216. 4

Question Number : 5 Question Id : 68634010946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043217. 1
68634043218. 2
68634043219. 3
68634043220. 4

Question Id : 68634010941 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634010942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gD UMH & Y ] B 6T U
1. G eIl
2. SR AIg®HR |IET Ul
3. g5 P QT Ul
4, T Ars-drge @1 el Ul
Options :
68634043201. 1

68634043202. 2
68634043203. 3



68634043204. 4

Question Number : 2 Question Id : 68634010943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oGP B IR g o
1. 99 HI 9I5q
2. Hrdreit A
3. foareit =
4. S WRE A
Options :
68634043205. 1
68634043206. 2
68634043207. 3

68634043208. 4

Question Number : 3 Question Id : 68634010944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gD 7 ST H U e S 91 B IAD
1. AGF P SR BHd gin
2. &R @Md g
3. U= ferad gman

4. 319 Qid 9@l

Options :

68634043209. 1
68634043210. 2
68634043211. 3
68634043212. 4

Question Number : 4 Question Id : 68634010945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043213. 1
68634043214. 2
68634043215. 3
68634043216. 4

Question Number : 5 Question Id : 68634010946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T oeg &1 3 &
BRI
2. A gl
3. Fol gaf
4. ATATH
Options :
68634043217. 1
68634043218. 2

68634043219. 3
68634043220. 4

Sub-Section Number : 2
Sub-Section Id : 686340364
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634010947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043221. 1
68634043222. 2
68634043223. 3
68634043224. 4

Question Number : 6 Question Id : 68634010947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faRyur Fdgu?
HRUR] dd Rigd ad gar sl
1. 99

2. @
3. gt
4. R aren

Options :

68634043221. 1
68634043222. 2
68634043223. 3
68634043224. 4

Question Number : 7 Question Id : 68634010948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043225. 1
68634043226. 2
68634043227. 3
68634043228. 4

Question Number : 7 Question Id : 68634010948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043225. 1
68634043226. 2
68634043227. 3



68634043228. 4

Question Number : 8 Question Id : 68634010949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. [Agen v fsr=sm=an
frafafad fapeal & 9 9et STk &1 98- DI -

1. A-II. B-1. C-III. D-IV
2. A-L B-IIL C-IV. D-IT
3. A-IIL. B-III, C-IV, D-I
4. A-IIL B-IV. C-1. D-II

Options :

68634043229. 1
68634043230. 2
68634043231. 3
68634043232. 4

Question Number : 8 Question Id : 68634010949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Tt 1 T
A [fgEme L Jaf+ 3= 2f
B. [emla IL [31 = 3T = off
C. [gar 1L [T + 3 = 31
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1. A-II. B-I. C-II. D-IV
2. A-L B-IIL. C-IV. D-II
3. A-II, B-III, C-IV. D-I
4. A-I1, B-IV. C-1. D-II

Options :



68634043229. 1
68634043230. 2
68634043231. 3
68634043232. 4

Question Number : 9 Question Id : 68634010950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A. SrTsd]

B. G4
C. gel-ddl
D. |ig 4o
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3.$hddB.E
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Options :

68634043233. 1
68634043234, 2
68634043235. 3
68634043236. 4

Question Number : 9 Question Id : 68634010950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A. Tdlsal
B. G
C. 9cl-ae]
D. WIE G2
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1. $dAA.B.C.D
2. BadD.E. A
3. $dd B.E

4. PAAA.C.E

Options :

68634043233. 1
68634043234. 2
68634043235. 3
68634043236. 4

Question Number : 10 Question Id : 68634010951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafeied o § R oM geTar &1 31 §-
1. TRy B
Ul usHl
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4, §gd TRHT B

Options :

68634043237. 1
68634043238. 2
68634043239. 3
68634043240. 4

Question Number : 10 Question Id : 68634010951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043237. 1
68634043238. 2
68634043239. 3
68634043240. 4

Question Number : 11 Question Id : 68634010952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST &1 U aq 22520 H 99 TR 20% BT 531 SU O &1 95 Ued (30 ) |1 UP

1.2016

| ]

2610
3.3150
4. 3500
Options :
68634043241. 1
68634043242. 2

68634043243.3
68634043244. 4

Question Number : 11 Question Id : 68634010952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST &1 U aq 22520 H 99 TR 20% BT 531 SU O &1 95 Ued (30 ) |1 UP

1.2016

| ]

2610
3. 3150
4. 3500

Options :
68634043241. 1



68634043242. 2
68634043243.3
68634043244. 4

Question Number : 12 Question Id : 68634010953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe 2l ol =320 8. A n PIHA B

1.5

2
o
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Options :

68634043245. 1
68634043246. 2
68634043247. 3
68634043248. 4

Question Number : 12 Question Id : 68634010953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe 2l ol =320 8. A n PIHA B

1.

L]

2
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Options :

68634043245. 1
68634043246. 2
68634043247. 3
68634043248. 4

Question Number : 13 Question Id : 68634010954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043249. 1
68634043250. 2
68634043251. 3
68634043252. 4

Question Number : 13 Question Id : 68634010954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043249. 1
68634043250. 2
68634043251. 3
68634043252. 4

Question Number : 14 Question Id : 68634010955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043253. 1
68634043254. 2
68634043255. 3
68634043256. 4

Question Number : 14 Question Id : 68634010955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043253. 1
68634043254. 2
68634043255. 3
68634043256. 4

Question Number : 15 Question Id : 68634010956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fereit T B B T A, B GTHT AU ¢ U O[T 900 el 81 31 9 U 1Yy S b 39 Bl 4 feq o
TR ADA &, A B 3G D B [dba fod H B G

1.6

2
[e2a)

4.12

Options :

68634043257. 1
68634043258. 2
68634043259. 3
68634043260. 4

Question Number : 15 Question Id : 68634010956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043257. 1
68634043258. 2
68634043259. 3
68634043260. 4

Question Number : 16 Question Id : 68634010957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043261. 1
68634043262. 2
68634043263. 3
68634043264. 4

[

Question Number : 16 Question Id : 68634010957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043261. 1
68634043262. 2
68634043263. 3
68634043264. 4
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Question Number : 17 Question Id : 68634010958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043265. 1
68634043266. 2
68634043267. 3
68634043268. 4

Question Number : 17 Question Id : 68634010958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. BNSID

2. BSNID

3. BNSID
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Options :

68634043265. 1
68634043266. 2
68634043267. 3
68634043268. 4

Question Number : 18 Question Id : 68634010959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043269. 1
68634043270. 2
68634043271. 3
68634043272. 4

Question Number : 18 Question Id : 68634010959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043269. 1
68634043270. 2
68634043271. 3
68634043272. 4

Question Number : 19 Question Id : 68634010960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3.K13U
4.L11U
Options :
68634043273. 1
68634043274. 2

68634043275. 3
68634043276. 4

Question Number : 19 Question Id : 68634010960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. K10M
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Options :

68634043273. 1
68634043274. 2
68634043275. 3
68634043276. 4

Question Number : 20 Question Id : 68634010961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafaa 1H-3 gduRom $u= 1 siaffea 8

HYF : Y0d WP 3 Ty 541 € & 98 Yaual & R 8 79 & 3 95 e o e anit
TS W IAGaR T YR Hd §U i (Ga¥ig Wi qAHni s o1 gere- S|

qUROME:
L @ 5 &1 99 X! & H9 ¢ §RT {9 T B! o 3l off 91 9dd B
11 3ed WiepTiRal & Fofg o1 2B 3@d §U w1 S(u-t 311 &1 G iorT &1 9ebd g
= feu e fawedl O 9 9aw SUgE IR &1 999 DI
1. 1f& o IR 1 3afied
2. 1fe Sad YdURUN I si=i-ied &
3.9 1 3R 11 ST QYR sfaffed §
4. 7% 1 A YR 1 3aT QEROT 11 Saf-iied &

Options :

68634043277. 1
68634043278. 2
68634043279. 3
68634043280. 4

Question Number : 20 Question Id : 68634010961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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TS W IAGaR T YR Hd §U i (Ga¥ig Wi qAHni s o1 gere- S|

qUROME:
L @ 5 &1 99 X! & H9 ¢ §RT {9 T B! o 3l off 91 9dd B
11 3ed WiepTiRal & Fofg o1 2B 3@d §U w1 S(u-t 311 &1 G iorT &1 9ebd g
= feu e fawedl O 9 9aw SUgE IR &1 999 DI
1. 1f& o IR 1 3afied
2. 1fe Sad YdURUN I si=i-ied &
3.9 1 3R 11 ST QYR sfaffed §
4. 7% 1 A YR 1 3aT QEROT 11 Saf-iied &

Options :

68634043277. 1
68634043278. 2
68634043279. 3
68634043280. 4

Question Number : 21 Question Id : 68634010962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T IE | e R
A [QedfbwE | 1 [amidd
B. [divifesH | I [«
C. [[BhraH 111 [[aeh®
D. [gopHiaH [ 1v. [srmEra
fAafaRad foweal & O Ot SO &1 994 Difog -

1. A-L. B-II. C-IIL. D-IV

2. A-L B-II. C-IV, D-III

3. A-L B-III, C-IV. D-IT

4. A-1. B-IV, C-II, D-III
Options :

68634043281. 1
68634043282. 2



68634043283.3
68634043284. 4

Question Number : 21 Question Id : 68634010962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

FEIEE) | e Qe
A [SudifhwH | I [ARd
B. [aefewq | I [g=re
C. [ 111 [[q9h
D. [ghaiEH | 1v [ermara
fFrafeiad faseal o 9 Tel TR &1 997 S -

1. A-I. B-II. C-II1. D-IV
2. A-I. B-I. C-TV. D-III
3. A-I. B-IIIL. C-IV, D-1I
4. A-I. B-IV, C-I1. D-III

Options :

68634043281. 1

68634043282. 2

68634043283.3
68634043284. 4

Question Number : 22 Question Id : 68634010963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P AAANIPR SR (T T 3R ) S, 1093 & S8R FEfiiEd § 9 o1 gHs! s
(ITREA) &1 o Febdl §

1. I Ay &1 i Yt JaRd rneier

[

3= ey &1 B Y YaRd gy
. F=aqH Ay & had Hdli-igd T ey
I gITad & had YaT-gd T i

L]

=S

Options :

68634043285. 1
68634043286. 2
68634043287. 3
68634043288. 4



Question Number : 22 Question Id : 68634010963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PT AFAETYSR SRR (T UF 3R ) SRHEH, 1003 & HER FEfiEd § 3 S g9@T e
(EREA) 1 o Il §

1. S=dH grared & ®is Y Jara g
3= ey &1 $I5 Hf Yara iy
 J=aH Iy & ad Hali-igd T e

| )

L

4, 3 AT & chadl Hali-ig Hwed i

Options :

68634043285. 1
68634043286. 2
68634043287. 3
68634043288. 4

Question Number : 23 Question Id : 68634010964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i feu el § O ufafad gearsi & gl S aruR $c &l 4|

A TATUSE

B. HRd Bls! <lad
C. Bfgae fieE

D. R g9

=it fau T f9oredl © 9 9o S IR @1 99 S

1.LA-B-D-C

| ]

.D-C-B-A
3.C-D-A-B
4B-C-D-A

Options :

68634043289. 1
68634043290. 2
68634043291. 3
68634043292. 4

Question Number : 23 Question Id : 68634010964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= fau e el § @ FefRad geiel & 98 SromHER B &1 ghul

A TATUSE
B. YRd BISl =<ie

. Bfg-e fiae=
D. e IHa-

i fau U fdeetl § ¥ 99 Iugad SR &1 99 i

1.LA-B-D-C

2D-C-B-A

3.C-D-A-B

4 B-C-D-A
Options :
68634043289. 1
68634043290. 2

68634043291. 3
68634043292. 4

Question Number : 24 Question Id : 68634010965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el

SHTYHH (A):YRA IRER SATAFTH, 1910 B FeW IRPR gRI YD IRPR T 58 THH 31 o3
@3- g uTid far A

BRU (R): TITY. IHIS GUR AT A Wicid TRBR T 54 R B LSHTd B B I 1 2|
IRIGd FUA & ATdiD H, A AU 0 [dsedi 4 9 98t IO &1 99 DIfor:

A SRR G Tl § SRR, A D] Uel ARAT 5
ANRREFA TS ERR AD IS T TR ©
3.ATE S, AfPTR A ®

4. ATEA B, AT R T R

(2=

2

Options :

68634043293. 1
68634043294. 2
68634043295. 3
68634043296. 4



Question Number : 24 Question Id : 68634010965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A RTE

SHTYHH (A):YRA IRER SATAFTH, 1910 B FeW IRPR gRI YD IRPR T 58 THH 31 o3
@3- g uTid far A

BRU (R): TITY. IHIS GUR AT A Wicid TRBR T 54 R B LSHTd B B I 1 2|
IRIGd FUA & ATdiD H, A AU 0 [dsedi 4 9 98t IO &1 99 DIfor:

1. A SRR EH T8l § 3SR R. A DI gl AT ©
2. ASIR R ST &1 € W R, A T Ut arer 71 &
3.ATE S, AfFTR O ®
4. ATOd 8. AfPTR TS ®
Options :
68634043293. 1
68634043294, 2

68634043295.3
68634043296. 4

Question Number : 25 Question Id : 68634010966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A RTE
U I GREAR ITTE B! 710 9edt F Frhe T ek
U 11: SHieY I8 g2dl W Rud ot aafda & g feR udid gt ¢
SWRIdd HYF & 3l J, 1= f3U T fadwedi & I Fel 3ok &1 99 Difee:

1. BUF 1 IR 11 S Tl &
YA 1 3R 11 ST T §
3. Y1 G B, Aifh YA 11 7Ted ©
4. DY 17109d 5. Al HUH 1T Hel §

| )

Options :
68634043297. 1
68634043298. 2



68634043299. 3
68634043300. 4

Question Number : 25 Question Id : 68634010966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A RTE
U I GREAR ITTE B! 710 9edt F Frhe T ek
U 11: SHieY I8 g2dl W Rud ot aafda & g feR udid gt ¢
SWRIdd HYF & 3l J, 1= f3U T fadwedi & I Fel 3ok &1 99 Difee:

1. BUF 1 IR 11 S Tl &
2. BYF 1 IR 11 Tad §
3. Y1 G B, Aifh YA 11 7Ted ©
4. DY 17109d 5. Al HUH 1T Hel §

Options :

68634043297. 1
68634043298. 2
68634043299. 3
68634043300. 4
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Question Number : 26 Question Id : 68634010967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The process of removal of air from fruit cans is known as

1. Lidding

[

. Exhausting

L]

. Clinching
4. Seaming

Options :

68634043301. 1
68634043302. 2
68634043303. 3
68634043304. 4

Question Number : 26 Question Id : 68634010967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wl & B a1 P GUBRY B U o FEAT
1. [SsrEal (i)
Options :
68634043301. 1
68634043302. 2

68634043303. 3
68634043304. 4

| )

(5]

Question Number : 27 Question Id : 68634010968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT an example of bacteria causing infection?

1. Clostridium botulinmon

| B

. Campylobacter jejuni
3. Salmonella typhi
4. Escherichia coli

Options :
68634043305. 1



68634043306. 2
68634043307. 3
68634043308. 4

Question Number : 27 Question Id : 68634010968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAfREd o ¥ &9 91 WehH0T Ual B4 aTd HICT] (S 119aT) 1 3aTe0 To 82
1. STy dicfoay
. T S = N £
2. PIEAIEFER Aol
3. A=l cgw!

+. QAR Py

Options :

68634043305. 1
68634043306. 2
68634043307. 3
68634043308. 4

Question Number : 28 Question Id : 68634010969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Passive modification is commonly used for MAP of fresh fruits and vegetables.
Statement II: In passive modification. an atmosphere low in carbon dioxide and high in oxygen evolves
passively within a sealed package over time.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

b2

. Both Statement I and Statement IT are false

L¥ 5]

. Statement [ is true but Statement II 1s false

4. Statement I is false but Statement II 1s true

Options :

68634043309. 1
68634043310. 2
68634043311. 3
68634043312. 4



Question Number : 28 Question Id : 68634010969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$Y 1 FSpg Iy HaR IR aTs Hai 371% Ifesdl &1 MAP & o wanT fear Srar g1

FA 11 ey 9wy & e dideg 96 & Uidk &1 SeTsEilaaRss 3R Afde el &1
qIdIaRY 9 & 91y Fifepg =g 3§ fafdaa Siar 2|

Sudad Bl & Hdre 3. 1 AU 7 el I 9 9ad S9gEd Jax 1 997 Bio

1. PUYT I IR YT I SHT I B

2. BYTI R BYT I SHT ST B
3. YT I IA 8, Al SYT I 3T &

4. PYTI 3T S, afpT Py 9d &

Options :

68634043309. 1
68634043310. 2
68634043311. 3
68634043312. 4

Question Number : 29 Question Id : 68634010970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Osmophilic organisms (yeasts) grow best in which of the following mediums?

1. Low concentration of sugar

| B

. High concentration of sugar
3. Low concentration of salt
4. High concentration of salt

Options :

68634043313. 1
68634043314. 2
68634043315. 3
68634043316. 4

Question Number : 29 Question Id : 68634010970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i o (@) Feffad i e mar d oel s 9ed 8 7
1. di-i1 1 HH Figdl
2. 9iH1 Dl HTg HigdT

3, AT B BH Tigdl

4. D I SIS Jigdl

Options :

68634043313. 1
68634043314. 2
68634043315. 3
68634043316. 4

Question Number : 30 Question Id : 68634010971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the equipment of spray drying system in correct process sequence.

A. Spray drying chamber
B. Cyclone separator

C. Liquid holding tank
D. High pressure pump
E. Atomizer

Choose the correct answer from the options given below:

1.B.C.AD.E

[ B)

.C,D.E.A.B
3IDCAEB
4 A C.D.E.B

Options :

68634043317. 1
68634043318. 2
68634043319. 3
68634043320. 4

Question Number : 30 Question Id : 68634010971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SBIH 0 YN & FUBUN bl el Aol pH H oUafRid HIforg:
A. TSP THIDHI0 B

B. Grgad- J9¥c
C. IRa/gd Fam I
D. 3= ddId Ug

E. [igaRl (TeHEeR)
1< faU 71U fasedl © § 8l 3R &1 90+ St

1B A PE

| ]

C,DLEAB
3D, CAEB
4. A, C,D.E.B
Options :
68634043317. 1
68634043318. 2

68634043319.3
68634043320. 4

Question Number : 31 Question Id : 68634010972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A: Sulphur dioxide 1s used as a preservative in jam preparation.
Reason R: Sulphur dioxide temporarily bleaches the red colour of fruits.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

68634043321. 1
68634043322. 2
68634043323. 3
68634043324. 4

Question Number : 31 Question Id : 68634010972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 & YA AU U §, UF SAf@YT A (Assertion A) & ¥ H &0 § 3IR G¥R1 39S PRIR (Reason
R)&F U H

HHHYT A: O TR T3 1 URRE & 9 H ob SEAHF5S &1 3UgT el arar gl
HRUTR: ep SEAHFES Bal & ard 1 & W =9 I faford &2 Sar gl
SWRIS DY & HTalid 1, H1d fay 7Y fdeedi T I 99 Uy STk &1 99 HIfo:

1. ARREA TUE IR R AP TSI TR &

2. A SRR EHI IU ¢ dfhT R, A &1 U IR 78l &
3. AT € AT R Ul 3T ©

4 ANTIEAPTIRITE

Options :

68634043321. 1
68634043322. 2
68634043323. 3
68634043324. 4

Question Number : 32 Question Id : 68634010973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Vegetable pieces dried in a properly designed oven for 4 hours would retain greater and better
product quality than the same product which is sun dried.

Reason R: Drying processes that employ high temperature for short time do less damage to food than drying
processes employing lower temperature for longer time.

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A is correct but R is not correct

4, A 1is not correct but R is correct

Options :

68634043325. 1
68634043326. 2
68634043327. 3
68634043328. 4

Question Number : 32 Question Id : 68634010973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

1 g1 U (AU Y §, U SHIUDHUA A (Assertion A) & ¥ 1 [¢&d & SIR GERT1 GHP PRUIR (Reason R)
e i

SHHY A: 3=l a¥g U fgWrg fhd 7u 3fia=1 H 4 9¢ § g U 9ol & ¢dhs. §d § @ 7T GH7
3G DI g 4 8@ 3R dgdR SIg Ul a7 [ |

BRUIR: HH THY 0 I=I dIUHM ST W11 D alell IY[H- Uibant 3ifeis I5g db &H draq™ &1 Wi
- arcil Wishatsll @1 qa-1 4 UIeiH &l S g Ugdmdl ¢
QWG Y- & 3Tclie H, i fGu Y f[deedl § 9 968 Sugdd SR &1 90 SIfeT:

1. A 3R R 3 98T € iR R, A P Jel AT ©

2. A SRR T T E IR R. A P Sl U el &
AT S Al R Sl el B
4 AT TR APTIR TS B

Options :

68634043325. 1
68634043326. 2
68634043327. 3
68634043328. 4

Question Number : 33 Question Id : 68634010974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the equipment given in the figure.

Coarse fead

P

-,

G i=)

]

Fine product

1. Ball mill
2. Plate mill
3. Roller mull

4. Tubular mill

Options :
68634043329. 1



68634043330. 2
68634043331.3
68634043332. 4

Question Number : 33 Question Id : 68634010974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R (STIU™) H fU 70 Iusu & Ugd il -

Coarse faad
[T

3

1. TIfereeT 9ot (&t fire)

2. YT USult (wie i)

3. e duoht Rier fira)
4. TeilgR Uuoft (eIsger i)

Options :

68634043329. 1
68634043330. 2
68634043331. 3
68634043332. 4

Question Number : 34 Question Id : 68634010975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the post mortem changes in animal (meat) muscle:

A Pyruvate

B. Reduction of pH

C. Production of lactic acid

D. Muscle become rigid

E. Permanent links formed between actin and myosin

Choose the correct answer from the options given below:

1B DL AB. E

b2

.C,E,A.D.B
JJALCB.E.D
4.D.C.E.A.B

Options :

68634043333. 1
68634043334. 2
68634043335. 3
68634043336. 4

Question Number : 34 Question Id : 68634010975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O%] ARURT § OReATe giacHi B Tl hH 1 oaiedd HIfor ;

A OII%dc

B. Ul U9 & ucrq

C. dfdeds 3d &1 I

D. AUl &38R 8 ol &

E. Ufge 3R AiRE & & =il geaudr &4 wdi @

e feu 7Y fawed! # ¥ Tel 3R &1 90 Sifie:

1.E. D AB, €

b2

.C,E.,A.D.B
JJALCB.E.D
4.D.C.E.A.B

Options :

68634043333. 1
68634043334. 2
68634043335. 3
68634043336. 4



Question Number : 35 Question Id : 68634010976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The fanning friction factor for fluid flow in pipes can be determined by using which of the following:

1. Youngs modulous chart

2. Stress strain diagram

LF¥]

. Moody diagram
4. Fannings diagram

Options :

68634043337. 1
68634043338. 2
68634043339. 3
68634043340. 4

Question Number : 35 Question Id : 68634010976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa & T g o1 Sugim o3 Afedl § gd vag & fou BiHn oo ere fuffa i o1 aear 2
1. G &1 {9 91
Hided-faspid s
TS 3R
4. BT 3y
Options :
68634043337 1
68634043338. 2

68634043339. 3
68634043340. 4

[ ]

L]

Question Number : 36 Question Id : 68634010977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following microorganisms are involved in vinegar fermentation:

A. Lacrobacillus bulgaricus
B. Acerobacter aceti

C. Aspergillus niger

D. Saccaromyces cerevisiae
E. Lactococcus lactis

Choose the correct answer from the options given below:

1. A and D only

[ ]

.B. C and D only
3. B and D only

4. A and E only

Options :

68634043341. 1
68634043342. 2
68634043343. 3
68634043344, 4

Question Number : 36 Question Id : 68634010977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Frafefed ¥ ¥ o U geaeiia [ fevad o il g e:

A dRIaRaY gaiRed
B. URcidae Uel

C. TERATAY Al5oR

D. IpiHE Y Wiafkar

E. daeidbiad dided
P g 7y faweal § 9 981 9T 31 904 S
1. HIAAIRD
2.%4d B.C 3R D
3. %ad B AR D

4. Hadd A ARE

Options :

68634043341. 1
68634043342. 2
68634043343. 3
68634043344. 4




Question Number : 37 Question Id : 68634010978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rate of mass transfer is expressed by Fick's Law

Mg D de
A dx

In the above equation. 'D' stands for

1. Density of flmd

| ]

. Diameter of flow pipe
3. Mass diffusivity
4, Direction of mass transfer

Options :

68634043345. 1
68634043346. 2
68634043347. 3
68634043348. 4

Question Number : 37 Question Id : 68634010978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oA 3iaeu &2 fo e & 59 e gr1 ooed fosar wiran &:

A [743

l‘“n =D :-r{'

SWRIgd gHieu g D &1 3 §

1. &d 1 9 (S8

2. UATg el BT I (STIHICR)

3. oM faaRuriterar ((swgfafadh
4. ToOHTA S0 BT 9 (STaeRH)

Options :

68634043345. 1
68634043346. 2
68634043347. 3
68634043348. 4

Question Number : 38 Question Id : 68634010979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Amylose can form strong and flexible films which are water soluble and edible.
Statement II: Foods can be coated with a thin film of amylose to improve water retention and decrease
surface thickness in dehydrated fruits.

In the light of the above statements. choose the most appropriate answer from the options given below:,

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect

L¥%]

. Statement I is correct but Statement I1 is incorrect

4. Statement [ 1s incorrect but Statement II is correct

Options :

68634043349. 1
68634043350. 2
68634043351. 3
68634043352. 4

Question Number : 38 Question Id : 68634010979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁﬁ’iﬁﬁqm%
BYT I TAS Aotad 3R aeitel il a1 gadr 2. o ot & ya-ieie 3R @F ara gidt €

S 11 Foiferd wal 1§ oe UiduRu o GUR Hdg 31 Hicls U B3 & oy @re yardf W v $1
U@ qqa fareet et o g 8

DY & el 1, A AU 7Y fasedi © ¥ 9ad Iugad 3R ST 90 Difoig:
1. BYI AR 1S gl

2 Y1 R 11 & Ted ©
3. FYF I Tl 8. AT YT 1 TEd §
4. BYT 17O 8. Al BYT I TSI &

Options :

68634043349. 1
68634043350. 2
68634043351. 3
68634043352. 4



Question Number : 39 Question Id : 68634010980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The condition of shrinkage and sealing of the surface of a food piece is known as

1. Shrinkage

| B

. Hardening
3. Case-hardening
4. Thermoplasticity

Options :

68634043353. 1
68634043354. 2
68634043355. 3
68634043356. 4

Question Number : 39 Question Id : 68634010980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G & U T DI Hdg & AP IR 66 g oi [&Ufd &l FEE TG -

1. 9P

%

.G FARIF
4. ymfeaTfefad

Options :

68634043353. 1
68634043354. 2
68634043355. 3
68634043356. 4

L]

Question Number : 40 Question Id : 68634010981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The rate of heat transfer per unit area from a metal plate is 100 w/m?. The surface temperature of the plate is
120°C and ambient temperature 1s 20°C. Estimate the convective heat transter coefficient.

1. 10 w/(m?°C)

| ]

.50 wi (1112°C}
3. 10 w/(m°C)
4. 15 w/(m°C)

Options :

68634043357. 1
68634043358. 2
68634043359. 3
68634043360. 4

Question Number : 40 Question Id : 68634010981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U YT & e J Ui 3bls &A% 8 SHNT 3 B & 100 wim? 81 W B Hag &I argdH 120 S50
TR 3R g™ &1 armEH 20 59 Seqod 81 Sas-1 ™1 g3aiaxul 0N H1 3FHH @5y -

1. 10 w/(m?°C)

-2

. 50 wi (1112°CZ)
3. 10 w/(m°C)
4. 15 w/(m°C)
Options :
68634043357. 1
68634043358. 2

68634043359. 3
68634043360. 4

Question Number : 41 Question Id : 68634010982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Green rot bacterial spoilage of eggs is caused by which microorganism?
1. Pseudomonas
2. Aeromanas

3. Acinetobacter

4. Proteus



Options :

68634043361. 1
68634043362. 2
68634043363. 3
68634043364. 4

Question Number : 41 Question Id : 68634010982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
30s! gt TS witary] fawfa frg gemsiia & HROT B 32
1. RSHH™
2. WRHEA™
3. UfFeigaey
1. e

Options :

68634043361. 1
68634043362. 2
68634043363. 3
68634043364. 4

Question Number : 42 Question Id : 68634010983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of preparing plain or milk chocolate from fermented and dried cocoa beans in correct
sequence:

A. Germ free mib

B. Conching and tempering

C. Cleaning and roasting of fermented dried beans
D. Refining

E. Moulding

Choose the correct answer from the options given below:

LCA DB E

b2

A CB.IDLE

[#5]

E.C.A.D.B
4. B.D.C.A.E

Options :

68634043365. 1
68634043366. 2
68634043367. 3



68634043368. 4

Question Number : 42 Question Id : 68634010983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fepfuaa SR gt el Wicrdl 4 T1a1 a1 (e dldeic a1 & =RUI &l 95! Y U HaRUd SIfT:
AT gad (e
B. B 3R Ui
C. TopfUaa ! Gierl &I JIP HRAT SR Y]
D. URsH1

E. glcid

Ty

i fu 0 f[daredl § U Uel 3R &1 90+ DI ;

1.C.A.D.B.E
2.A.C.B.D.E
JEECAD.B
4.B.D.C.A.E
Options :
68634043365. 1
68634043366. 2

68634043367. 3
68634043368. 4

Question Number : 43 Question Id : 68634010984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fourier's law for heat transfer by conduction may be expressed as:

1. g= —k.Aﬂ-
Fray
Ix
2. g=—hk A
/] dr
3 el
4 d
k dx
R
= yar

Options :

68634043369. 1
68634043370. 2
68634043371. 3
68634043372. 4



Question Number : 43 Question Id : 68634010984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T GRT ST SR & BRIR & (a0 &1 53 TR odd [ off 9l § :

1. g=—k 4E£I
dlx
']-'.
2. g ——Ludi;
dl
k dT
3 g i
A &
4. g=- k ‘f‘f_
A dT
Options :

68634043369. 1
68634043370. 2
68634043371.3
68634043372. 4

Question Number : 44 Question Id : 68634010985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The unit of convective heat transfer coefficient, h 1s

1. w/m°C
2. w-'(m2 °)
3. Jm°C
4. Jm*°C

Options :

68634043373. 1

68634043374. 2

68634043375. 3
68634043376. 4

Question Number : 44 Question Id : 68634010985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e S SRRV 0N, b, BT SPI5 ¢

1. w/m®C

[ B)

: w'(m2 °C)
3. ' m*C

4. I'm=°C

Options :

68634043373. 1
68634043374. 2
68634043375. 3
68634043376. 4

Question Number : 45 Question Id : 68634010986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps involved in preparation of ghee in correct sequence:

A Fermentation

B. Centrifugation of milk
C. Clarification

D. Churning

E. Packaging and storage

Choose the correct answer from the options given below:

LAECDB

| )

.B.A.D.C.E
3.3A,C.D.B,E
4. C,B.D.A.E

Options :

68634043377. 1
68634043378. 2
68634043379. 3
68634043380. 4

Question Number : 45 Question Id : 68634010986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ul T 1 Ufshdr & =R0T &1 Tet HH H oIafd Hifeie:

A fouaq

B. 3Y &1 JYFHI
&

D. BYAT

E. UfesfoiT iR Jugu
= o o faeet © 2 ot oo o 9uA St

LAEC.D B

b2

B,A,D,CE
A C DB H
4. C.B.D.A.E

Options :

68634043377. 1
68634043378. 2
68634043379. 3
68634043380. 4

Question Number : 46 Question Id : 68634010987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct:

A. Photobacterium spp. causes phosphorescence on meat
B. Micrococeus causes yellow discolouration on meat

C. Pseudomonas causes mycelial growth on meat

D. Sporotricum carnis causes black spots on meat

E. Sporotricum carnis causes white spots on meat

Choose the correct answer from the options given below:

1. C. D and E only

[ )

.A. B and C only
3.B.Cand D only
4. A. B and E only

Options :

68634043381. 1
68634043382. 2
68634043383. 3
68634043384. 4



Question Number : 46 Question Id : 68634010987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FaffEd § S oH I DT HRI 6 -

A Bilaac gH THUIdl. B IR THR4IG &1 SR §1d1 §
B. AE®HIHIHY OiF R Yid A0 BT SR &1 &

C. WEHHRN 019 IR A0afend afE &1 $RU §Fdr §

D. WRIEIHH FHIHY I Y R P Ued TS &

E. TRIGIHH BT I 779 TR 9he e 059 &

-4 feu 7T faeetl § 9 96l 3Tk &1 997 B -
1. $ad D. C 3R E
2. PaAA.BARC
3.%adB.C IRD
4.%ad A. B 3IRE

Options :

68634043381. 1
68634043382. 2
68634043383. 3
68634043384. 4

Question Number : 47 Question Id : 68634010988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Active components Spices
A |[Thyvmol I. JAjwain
B. |Anethole I [Clove

C. [Eugenol III. |Chillies
D. [Capsaicin IV |Aniseed

Choose the correct answer from the options given below:

1. A-ll B-11I C-1 D-IV

b2

. Al BV C-1I D11l
3. A-IV B-ll C-lI DA
4. A1l B CHIE DIV
Options :

68634043385. 1
68634043386. 2



68634043387.3
68634043388. 4

Question Number : 47 Question Id : 68634010988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T 1 T I
GlEZIRIED (T
UIZHIT L
RIS I
BERIS] 1L

[pyaEEiE |1

FfaiRad foseal § O 98! SR & 904 DI

1. A-1B-11 C-1 D=1V

%’E%’%

2. Al B-IV C-1I D-1N
3. A-IV B-Il C-11 D1

4. A-ll B-1 C-11 D-1v

Options :

68634043385. 1
68634043386. 2
68634043387. 3
68634043388. 4

Question Number : 48 Question Id : 68634010989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Fruit juice is prepared by liquefying the whole fruit and at least 10% of the volume of undiluted
drink must be whole fruit.

Statement II: Fruit squash consists essentially of strained juice containing moderate quantities of fruit pulp to

which sugar is added for sweetening.
In the light of the above statemeants, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

| )

. Both Statement | and Statement Il are incorract
3. statement | is correct but Statement 11 is incorrect

4. statement | is incorrect but Statement Il is correct

Options :
68634043389. 1



68634043390. 2
68634043391.3
68634043392. 4

Question Number : 48 Question Id : 68634010989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1
PHYT1 AR 1S T8l g

[
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Y1 7Ted ©, S BYH 1 HEl ©
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=Y

Options :

68634043389. 1
68634043390. 2
68634043391. 3
68634043392. 4

Question Number : 49 Question Id : 68634010990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the function of alkali during refining of crude oil.

1. Removal of volatile compounds

[

. Removal of free fatty acids
3. Removal of pigments
4. Removal of phospholipids

Options :

68634043393. 1
68634043394. 2
68634043395. 3
68634043396. 4



Question Number : 49 Question Id : 68634010990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
F dd & QYA P SRH &R (fedall) $ B &1 UgdH HIfog;
1. AR GiffTepl @1 ger
oI 9T 3l P gl
S (fQrHe) &l gerH
4. IERITIUS PI TSI

| )

[#5]

Options :

68634043393. 1
68634043394. 2
68634043395. 3
68634043396. 4

Question Number : 50 Question Id : 68634010991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps of beer processing in correct sequence:

A Fermentation

B. Mashing

C. Finishing

D. Malting

E. Wort boiling with hops

Choose the correct answer from the options given below:

1.B. E DG A

[

D,C.E,B.A
3JJALCE.B.D
4 D.B.EAC

Options :

68634043397. 1
68634043398. 2
68634043399. 3
68634043400. 4

Question Number : 50 Question Id : 68634010991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SR 1 %t Hichal & =RUN &1 Hel H H SHaiRd I .

A Tpogq
B. 91
C. gRsH
g,
E. BT & T1Y a1 &I IaTa-T
i fau U fdoredl § O 98l IR &1 90+ DI
I.B.EDCA
2.0, C.EB,.A
3 AC.EB.D
LD.B. AL
Options :
68634043397. 1
68634043398. 2

68634043399. 3
68634043400. 4

Question Number : 51 Question Id : 68634010992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In UHT milk processing, enzyme is used as an indicator to check efficiency of heat treatment.

1. Catalase

| B

. Lipase
3. Protease
4. Peroxidase

Options :

68634043401. 1
68634043402. 2
68634043403. 3
68634043404. 4

Question Number : 51 Question Id : 68634010992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UHT 7 U0 § %W JUER & G&d1 & Wid & [y Hdbdd & =u § f@0aa &1 Iu
far Sar g

" =

2. EE]G[

3.1 iEE{G

4, WRiagrgsd
Options :
68634043401. 1
68634043402. 2

68634043403. 3
68634043404. 4

Question Number : 52 Question Id : 68634010993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the INCORRECT expression for Reynold's number . Ng... from the following options:

Inertial forces

1. Ng. =
Re ™ viscous forces
Du
3 N =Bl
Re 7
pF.I. i)
3. N =
L
4m
4. Npg =——
e wmh

Options :

68634043405. 1
68634043406. 2
68634043407. 3
68634043408. 4

Question Number : 52 Question Id : 68634010993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafefad ¥ 9 Hies 3P, Ny, B Te7d Jidd &1 98- Hiforg :

_ Inertial forces

1. Ny =
Re ™ Viscous forces
- pDp
2. Jl""'E.'.l.: T -
I
, pp D
3. Nge =
i
4
e N
e puml

Options :

68634043405. 1
68634043406. 2
68634043407. 3
68634043408. 4

Question Number : 53 Question Id : 68634010994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Food items Fermented Products
A |Sov bean I. |Saverkraut
B. [Rice II. |Dull pickle
C. |Cabbage I11. |Sova sauce
D. [Cucumber IV. [Dosa

Choose the correct answer from the options given below:
1. A BV C1D-n
2. A-IV B-I1 C-1 D-1iI
3. A1 B-lI C-IV D-1I
4. A1 B-1l C-IV D-llI

Options :

68634043409. 1
68634043410. 2
68634043411. 3
68634043412. 4

Question Number : 53 Question Id : 68634010994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 i 11 9 i Sife

T = 10
@ | (eved Swrg)
L [gRwie

A [HEEE

B. [IAd 1. [[8d 3@R
C. [t 11 |91 97
D. [@RI V. [ern

A fdu e fosedl § 9§ 981 3R &1 994 Hifolg .
1. A B-IV C-1D-
2. AV B-I C-1 D1
3. Al B-I C-IV D11

4. a-l B-1l C-Iv D111

Options :

68634043409. 1
68634043410. 2
68634043411. 3
68634043412. 4

Question Number : 54 Question Id : 68634010995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The membrane separation process based on separation or fractionating high molecular weight solutes from low
molecular weight using semipermeable films is known as

1. Ultrafiltration

2. Reverse 0smosis
3. Electrodialysis
4. Microfiltration

Options :

68634043413. 1
68634043414. 2
68634043415. 3
68634043416. 4

Question Number : 54 Question Id : 68634010995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043413. 1
68634043414. 2
68634043415. 3
68634043416. 4

Question Number : 55 Question Id : 68634010996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The filtration of crude vegetable oils to obtain clarified oils is done by using

1. Continuous rotary vacuum filter press

[

. Pressure leaf filter press
3. Plate and frame filter press

4. Centrifugal filter

Options :

68634043417. 1
68634043418. 2
68634043419. 3
68634043420. 4

Question Number : 55 Question Id : 68634010996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043417. 1
68634043418. 2
68634043419. 3
68634043420. 4

Question Number : 56 Question Id : 68634010997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The action of invertase enzyme from papaya leaves on meat proteins results in tenderization .
Statement II: Tendearising enzymes remain inactive until the meat is heated.

In the light of the above statemeants, choose the correct answer from the options given below.

1. Both Statement | and Statement Il are true

| )

. Both Statement | and Statement 1l are false
3. Statement | s true but Statement 11 is false
4, statement | is false but Statement Il is true

Options :

68634043421. 1

68634043422. 2

68634043423. 3
68634043424. 4

Question Number : 56 Question Id : 68634010997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- gl ey fau e &
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[#5]

4. PYTI HTI B, AfFT YT I T ©

Options :
68634043421. 1



68634043422. 2
68634043423.3
68634043424. 4

Question Number : 57 Question Id : 68634010998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Food Products Doneness stage
A |Fondant I. [Hard crack
B. [Butterscotch II. [Hard ball
C. Marshmallows | IT1. |Soft ball
D. |Brittle IV. |Soft crack

Choose the correct answer from the options given below:

1. A-v B-1C-liD-11

[

. -1l B-1 C-1V D-1H
3. A-l B-IV C-1l DN
4. A1 B-IV C-11 D-1

Options :

68634043425. 1
68634043426. 2
68634043427. 3
68634043428. 4

Question Number : 57 Question Id : 68634010998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

S| e

A [Badhg (Blac)| I [FeR Thicd (318 o®)
B. [@ctsmid 1. [@6R 7ig @S i)
C.[oreraal 111 [73# 7ig (Qite 9la)

D.

@ (fdea) |1V R Thied (@E $m)
fFrafeiad fasedl o 9 98l Gk &1 99 S -

1. A B-1 C-1D-I

[

. Al B-1 C-1V D-1H1
3. Al B-IV C-1l D-NI

4, A-lll B-1W C-11 D1

Options :

68634043425. 1
68634043426. 2
68634043427. 3
68634043428. 4

Question Number : 58 Question Id : 68634010999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milk flows at a rate of 2.0 L/s through a 50 mm diameter pipe. From a valve in the pipeline. 0.7 L/s milk is
drawn out. What 1s the flow rate and velocity down stream at the outlet of pipeline?

1.2.3x 102 m?/s, 0.819 m/s
2.0.5% 107 m3/s. 0.42 m/s
3.1.7x 103 m3/s. 0.712 m/s
4.1.3 x 10° m?/s. 0.662 m/s

Options :

68634043429. 1

68634043430. 2

68634043431. 3
68634043432. 4

Question Number : 58 Question Id : 68634010999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U 50 ol ore aTel WISy 9 2.0 L/s 1 ax 9 34 984l 6 | UIgUeiie § U dled ¥ 0.7 L/s 34 FHerer Sl
& | UISYaS 1 Rl W 1 31 38 981d &1 ¥dTe & 3R 471 fdbe g2

1.2.3 x 102 m3/s. 0.819 m/s

[ ]

0.5 x 107 m3/s, 0.42 m/s
3.1.7x 1073 m?/s. 0.712 m/s

4. 1.3 % 103 m?/s. 0.662 m/s

Options :

68634043429. 1
68634043430. 2
68634043431. 3
68634043432. 4

Question Number : 59 Question Id : 68634011000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The water insoluble parent pectic substance which occurs in plants is known as

1. Pectin

[ )

. Protopectin

L]

. Pectic acid

4. Pectinic acid

Options :

68634043433 1
68634043434, 2
68634043435. 3
68634043436. 4

Question Number : 59 Question Id : 68634011000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt H gt ga Ufdee vard o el H gidr 6. CRSERRCIEIRC NI
1, Ofdeq
EIEEICEE]
 Ufde s

| ]

[#%]



Options :

68634043433. 1
68634043434. 2
68634043435. 3
68634043436. 4

Question Number : 60 Question Id : 68634011001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Addition of salt and sugar acts as a preservative for foods.
Reason R: Addition of solutes reduces the water activity.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both A and R are trus and R is the correct explanation of A

| )

. Both A and R are true but R is NOT the correct explanation of A
3. Als true but R is false

4. Ais false but R is true

Options :

68634043437. 1
68634043438. 2
68634043439. 3
68634043440. 4

Question Number : 60 Question Id : 68634011001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 YA AU Y §, U Bl SHUBUT (A) SR THL Bl PRUI (R) BT 6|

SifiymyT A F8F 3R -t e @ el & foid ufRemr &1 o™ Far s |
®HRU R:fqdy feaH 4 oa & afhadt &1 & 9t g1

SWRIGd HUA & AP |, A S0 U [dFedi § I Tol AR &1 999 DIIT:
1.ARRI U E IR R AT TSl TR &

2 ARREFTAE AfbTR A TEl BN TE ©

3ATAE APIR T B

4 AFAEAGTRITE

Options :
68634043437. 1
68634043438. 2



68634043439. 3
68634043440. 4

Question Number : 61 Question Id : 68634011002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Microorganisms  [Minimal water activity value
Most bacteria I |65
Halophillic bacterial II. |0.60
[Xerophillic fungi | III J0.75
Osmophilic veast | IV 091

T REE

Choose the correct answer from the options given below:

1. A-ll B-IV C-1 D111

b2

BN BT C-E DIV

L¥ 5]

. B-IV B-Ill C-1 D-I1
4, A-l B-IV C-111 D-11

Options :

68634043441. 1
68634043442, 2
68634043443. 3
68634043444, 4

Question Number : 61 Question Id : 68634011002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

a1 = 11
(H&T wita) (A 5T et gem)

A [T Siia [ L [0.65
B. [gdlithicid S | IL j0.60
C. [sRiftpfere Sfiaryy |11 fo.75
D. [T =ihe® v [o.o1

fafatad fawedl § I 9Et S &1 997 DI «

1. A-ll B-1v C-1 D11

[ ]

A1 B-1 C-IE D-IV

Lad

AV B-ICHL DA

4. A-l B-IV C-lI D-1



Options :

68634043441. 1
68634043442. 2
68634043443. 3
68634043444. 4

Question Number : 62 Question Id : 68634011003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Undesirable odour and off flavor of rancid butter are predominantly due to which of the following fatty acids?
1. Stearic acid and palmotic acid
2. Butyric acid and caproic acid

3. Linoleic acid and linolenic acid

4. Arachidonic acid and behenic acid
Options :
68634043445. 1
68634043446. 2

68634043447.3
68634043448. 4

Question Number : 62 Question Id : 68634011003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRH AeRgA ¥ sfaifesd 1Y SR W We g8 =4 9 Hafiiad 3 ¥ 69 a9 309 & SRUEd o7
1. e s SR uifiice s

forIce st SR e s

4. SIS 3T 3R e s

| )

L

Options :

68634043445. 1
68634043446. 2
68634043447. 3
68634043448. 4

Question Number : 63 Question Id : 68634011004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Irradiated milk is the milk in which vitamin D content has been increased by exposure to ultra-viclet rays.
Statement II: Irradiated milk is the milk in which vitamin B content has been increased by exposure to infrared rays.

In the light of the above statements, choose the most appropriote answer from the options given below.

1. Both Statement | and Statement Il are correct

[

. Both Statement | and Statement Il are incorrect
3. statement | is correct but Statement 1l is incorrect

4, statement | is incorrect but Statement Il is correct

Options :

68634043449. 1
68634043450. 2
68634043451. 3
68634043452. 4

Question Number : 63 Question Id : 68634011004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%ra“lam?ﬁt{m%

mmé:%Wgﬂﬁ%gﬂ%ﬁﬂﬁ%ﬁﬁ%ﬂﬁ%@%ﬁaﬂﬁﬁmﬁﬂﬁﬁ@aﬁwa@
STt 81

gﬁxx:%ﬁﬁﬁ;ﬂﬁ@ﬁﬁﬂﬁﬁ%%ﬂm%ﬁ 3 ° 3HD! fqetit-dl &1 A 9 Sl
N

QRIS BYH & HTclid 1, A1 f3U U fdsedi T I 9 Sugad STk &1 94 S
1. U1 AR IS el §

2. HYTI AR I S Tad &
3. YT I Tel 8. AfpT HYF 1 Tad §
4. BYT 17T0d &, AipT PUT I Tl ©

Options :

68634043449. 1
68634043450. 2
68634043451. 3
68634043452. 4

Question Number : 64 Question Id : 68634011005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

Tyvpe of fluids Examples
A INewtonian 1. |Banana puree
B. [Pseudoplastic | II. [Honew
C. [Bingham III. 0% corn starch suspension
D. [Dilatant IV. [Tomato paste

Choose the correct answer from the options given below:

1. A-Iv B-11 C-111 DA

[

. Bl B-1V C-1 D1

5]

. Al B-1l C-IV D-I
4. A-ll B-1 C-1V DAl

Options :

68634043453. 1
68634043454. 2
68634043455. 3
68634043456. 4

Question Number : 64 Question Id : 68634011005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 D1 Y 11§ A Siforg
'\%‘;ﬁi T I

(S & TPR) (STTEXN)
A [FeiETE I [t i Tl
B. [EwiEs II. 2185
C. [f&em 111 [100 G5 dUR Uele]
D. [[R® @Eade) Iv. [carR @1 i
fafeiad faeedl & 4 9g!l SR &1 90+ e :

1. A-v B-I C-lll D-l

| )

. -1l B-1V C-1 D-111
3. A-ll B-Il C-1V DI

4. Al B-1 C-Iv D111

Options :

68634043453. 1
68634043454. 2
68634043455. 3
68634043456. 4



Question Number : 65 Question Id : 68634011006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The viscosity of liquid honey increases on reduction of temperature or cooling

Reason R: Liquid honey is a Newtonian fluid
In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true but R is NOT the correct explanation of A
3. Alis true but R is false

4. Ais false but R is true

Options :

68634043457. 1
68634043458. 2
68634043459. 3
68634043460. 4

Question Number : 65 Question Id : 68634011006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &l YA (U T §, U SHHYT A(Assertion A) & ¥U B [AIRIT & 3R GHRT 39D HRUI R(Reason
R)&F U H

B YT A: TTOAH g A1 Wae 9 I ES & Fur=yd= ¥ gig gid o

PRI R: TR ea TP GeI-a- %a g
QRIGT FYA & JATdlD |, 91d 2 0 [dwedi 3 T It IR &1 99 HIoI:

1L AJRREA TUE IR R AT TSI TR &
ASIRRIH GUE 3R R AT Jol ORAT el &

AT E AfPTR ITT B

b2

4 ANTITAPTRITE

Options :

68634043457. 1
68634043458. 2
68634043459. 3
68634043460. 4

Question Number : 66 Question Id : 68634011007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Among the following options, 4% commercially available acetic acid is

1. Brine

b2

. Salt
3. Tartar
4. Vinegar
Options :
68634043461. 1
68634043462. 2

68634043463. 3
68634043464. 4

Question Number : 66 Question Id : 68634011007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeaad fdemedl & 9 42, aiie dR WR SUas URifes TRis(sm) gl
FHBH gHT (F15A)
BiEs
TR
4, R

oy

| )

[#5]

Options :

68634043461. 1
68634043462. 2
68634043463. 3
68634043464. 4

Question Number : 67 Question Id : 68634011008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
During the denaturation of proteins, which of the following bonds 1s NOT broken?
1. Hydrogen bonds
2. Hydrophobic interactions
3. Salt linkages

4. Covalent bonds

Options :
68634043465. 1



68634043466. 2
68634043467. 3
68634043468. 4

Question Number : 67 Question Id : 68634011008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UIcH & faspidevu & aRH FiFafed O 9 11 9 dy =gl gedi gl

1. BTSglo §Y
RCRIGRIRICLR]

[

L]

. TG Geaudl
4. GegUIeH §Y

Options :

68634043465. 1
68634043466. 2
68634043467. 3
68634043468. 4

Question Number : 68 Question Id : 68634011009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are examples of contact type heat exchargers.

. Tubular

. Scraped surface
. Steam mfusion
. Shell and tube

. Steam 1njection

Rl N o v RN

Choose the correct answer from the options given below:

1. C and E only

| )

. A and B only
3.Band D only

4. A and E only

Options :

68634043469. 1
68634043470. 2
68634043471. 3
68634043472. 4



Question Number : 68 Question Id : 68634011009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad ¥ ¥ o 9ud yeR & a1 falame! & Seeu &

A TURER

B. P4l 55 s
C. HTT 394
D. @I 3R et
E. YT Sula=H

-4 feu 7T faeetl § 9 96l 3Tk &1 997 B -
1. %ad C 3R E
2. Pad AIRB
3.%ad B IR D
4.%ad A R E

Options :

68634043469. 1
68634043470. 2
68634043471. 3
68634043472. 4

Question Number : 69 Question Id : 68634011010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of earbon atoms in palmitic acid 1s

1,12

b2

14
3. 16
4 18

Options :

68634043473. 1
68634043474. 2
68634043475. 3
68634043476. 4

Question Number : 69 Question Id : 68634011010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



miftifes s H Sre= wRAme @ gem gl

112

| )

.14

3. 16

4. 18
Options :
68634043473. 1
68634043474. 2

68634043475. 3
68634043476. 4

Question Number : 70 Question Id : 68634011011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The green colour chlorophyll is converted to dull olive brown colour due to the formation of

1. Chlorophillides

2. Carotenoids

Lad

. Pheophytins
4. Anthocyanin

Options :

68634043477. 1
68634043478. 2
68634043479. 3
68634043480. 4

Question Number : 70 Question Id : 68634011011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FARITRE &1 83 T & T D DRU W P geb Y U1 H gRaldd g1 S g

i 8

1. deIRMe el
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Options :
68634043477. 1



68634043478. 2
68634043479. 3
68634043480. 4

Question Number : 71 Question Id : 68634011012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Polymorphism in fatty acids is the phenomenon in which a substance occurs in different
crystalline forms.

Statement II: Unsaturated fatty acids in lipids undergo polymerization owing to heat. oxidation and presence
of free radicals.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement I are false

L¥%]

. Statement I is true but Statement II is false

4. Statement [ 1s false but Statement II is true
Options :
68634043481. 1
68634043482. 2

68634043483. 3
68634043484. 4

Question Number : 71 Question Id : 68634011012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. PYTI 9 8, Qb PYT 11 3T &
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Options :

68634043481. 1
68634043482. 2
68634043483. 3
68634043484. 4

Question Number : 72 Question Id : 68634011013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The rate of heat emission by radiation from an object of surface area 'A’' 1s given by

l.q= o AT,

2.q= ¢ EAT,?
3.q=€A’T,
4.q= 4

Options :

68634043485. 1
68634043486. 2
68634043487. 3
68634043488. 4

Question Number : 72 Question Id : 68634011013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U a5 [STHPT S35 'A' 5. U [afhR01 GRT &1 SH6H &I 4% T Fuifa gt gl

l.q= 0 EA'T,

2.q= ¢ EAT,®
YHSEAN,
4.q=€AT,*

Options :

68634043485. 1
68634043486. 2
68634043487. 3
68634043488. 4

Question Number : 73 Question Id : 68634011014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name the major compound responsible for the flavour of almonds?

1. Citral

b2

. Isopentyl acetate

L¥ 5]

. Benzaldehyde

4. Acetic acid

Options :

68634043489. 1
68634043490. 2
68634043491. 3
68634043492. 4

Question Number : 73 Question Id : 68634011014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STaTH & WIg & (o7 SoRar HE i @1 A fafau -

1. fyeq

: Q[@ ch IAHH
Options :

68634043489. 1
68634043490. 2

68634043491. 3
68634043492. 4

| )

s

=S

Question Number : 74 Question Id : 68634011015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

Pigments Examples

Anthocvanins | I |Colour of fresh muscle

MMyoglobin 1. |Florets of blue-green brocolld
Chlorophyll - a] IIL. [Cherries, blueberries
[ vcopene IV. [Tomatoes

REE

Choose the correct answer from the options given below:

1. A-ll B-1 C-Iv D111

[

. Bl B-I C-1l D-1V
3. A-l BN C-1l DIV
4. A-IV B-ll C-1 DN

Options :

68634043493. 1
68634043494. 2
68634043495. 3
68634043496. 4

Question Number : 74 Question Id : 68634011015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

Sk kSik
(ITH) (SGIEXUN)
- [aUTaE A 1. [dTS 99Ul & 3
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FORIT - T |11 [T, i gadl
B EIECAEIE V. [eAree

FfaiRad foseal § O 98! SR & 904 DI

1. A-11 B-1 C-IV D-1I1

ol Fof o) i3

| )

. Bl B-1 C-1l D1V
3. AL BN C-1 D=1

4. A-v B-I C-1 D-111

Options :

68634043493. 1
68634043494 2
68634043495. 3
68634043496. 4



Question Number : 75 Question Id : 68634011016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Microeytic hypochromic anemia is caused due to the deficiency of which nutrient?

1. Folic acid

2

. Calcium

LFS]

. Pyridoxine
4. Vitamin B,
Options :
68634043497. 1
68634043498. 2

68634043499. 3
68634043500. 4

Question Number : 75 Question Id : 68634011016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OIshiaTsied gEulphIhe Iaaread AR 5T give da &t T8l & SR KT 82
 Pifeid TS
ey
g sTagd
4. faeritF B,

-

| ]

[#5]

Options :

68634043497. 1
68634043498. 2
68634043499. 3
68634043500. 4

Question Number : 76 Question Id : 68634011017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: A standard classification of ice-cream i3 adopted by the manufacturing industries,
Statement II: Some of the important frozen deserts can be classified as plain, chocolate, fruit, nut, milk lollies
ete.
In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 1s incorrect
4. Statement I is incorrect but Statement II is correct

Options :

68634043501. 1
68634043502. 2
68634043503. 3
68634043504. 4

Question Number : 76 Question Id : 68634011017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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SYA 1. AT I ERT TS &1 U6 HHS a0l 911 ol g |

gﬁxx:@ﬂ@ﬁﬁgﬁ%ﬁéaﬁw.aw.wﬂm gy, didl onfe & ¥ 9 o aeifera foean o g
I

SWRIGI Y & 3HTaild 1, H1d 3y 7Y fdeedi T I 96 Sugad SR &1 99 B
1. BT AR I ST 9el 8

2 BYT1 IR 11 G Tad §
3. FYF I Tl 8. AT YT 1 TEd §
4. BYT 17O 8. Al BYT I TSI &

Options :

68634043501. 1
68634043502. 2
68634043503. 3
68634043504. 4



Question Number : 77 Question Id : 68634011018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements with reference to application of centrifugation in foods

A. Tubular bowl centrifuge are used for solid-liquid separation

B. Tubular bowl centrifuge are used for liquid-liquid separation
C. Disc bowl centrifuge are used for high solid concentration feed
D. Disc bowl centrifuge are used for low solid concentration feed
E. Basket centrifuge are used for high solid concentration feed

Choose the correct answer from the options given below:
1. B. D and E only
2.A.B.D and E only
3. C.D and E only

4. A. C and D only

Options :

68634043505. 1
68634043506. 2
68634043507. 3
68634043508. 4

Question Number : 77 Question Id : 68634011018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT ganell & SR 3 A ¥ gl 7 e w3 eae i

A. TR SR A (ISR ald YeHe) &1 3YAiT 14-a3d Jyamvl & ford far srar g |

B. ATGIGR HeRT A (SIIeR ad e Iwol) BT ITURT aRa-aRdl JUFBRU P ferd foar S 3

cgﬁﬁﬁﬁﬂﬂfﬂﬁﬁ@éﬁ@@ﬁﬂﬂﬁﬁmmaﬁmwﬁ%ﬁﬁﬁmm
[

D.SWWWL%WWWWWWWHIM aTel @re vard & ferd fepan o
[

E. T3 HTEE (e aid S 1wgol) &1 SUg i@ o Figdl ard @ yard & ford fear snar g |

14 fau 77 faeedl § 9 96l STR &1 997 B ;
1. $ad B.D IR E
2. %ad A.B.D 3R E
3.%49 C.D 3R E
4.PaAA. C 3R D

Options :



68634043505. 1
68634043506. 2
68634043507. 3
68634043508. 4

Question Number : 78 Question Id : 68634011019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The brown colour formed during enzymatic browning of potatoes is due to which compound?
1. Dopaquinone
2. Melanin
3. O - diphenol
4. Tyrosine

Options :

68634043509. 1
68634043510. 2
68634043511. 3
68634043512. 4

Question Number : 78 Question Id : 68634011019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 ! frvass (Uomgafe®) Iref1 & SRM &+ 9 431 3 e AifiTes & IR0 §d1 2
1. Sl
2, T

3, A-sEfeard
4. TERIRHA

Options :

68634043509. 1
68634043510. 2
68634043511. 3
68634043512. 4

Question Number : 79 Question Id : 68634011020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the steps of canning process in correct sequence:

A. Brining or syruping and deacration

B. Additional cooling by water sprays followed by labeling
C. Heating in a retort

D. Blanching

E. Partial cooling under pressure

Choose the correct answer from the options given below:
1A D B B
22D A.C.E.B
3.D.C.AE.B
4 C.A.D.E.B

Options :

68634043513. 1
68634043514. 2
68634043515. 3
68634043516. 4

Question Number : 79 Question Id : 68634011020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f&sarecl @1 ichar & =RUM @I Fel PvH H oIaiRdd Bifoig:

A. STEHT (ESE die) a1 RRUT @reeh) iR faaraq
B. UHI & Bici gRI Yida- & IURId dacdhul

c. e dd @

D. YaaiHUl (sii=)

E. G819 T 3R iae

- fau e fawedt & 9 Hel SR o 90 S -

1.LADECEB

| ]

DA C.EB
3:D.C,AE.B
4. C,A.D.E.B

Options :

68634043513. 1
68634043514. 2
68634043515. 3
68634043516. 4



Question Number : 80 Question Id : 68634011021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following food product is NOT an example of gelation of protein ?

1. Egg white

| B

. Yogurt

LF¥]

. Mayonnaise
4. Totu

Options :

68634043517. 1
68634043518. 2
68634043519. 3
68634043520. 4

Question Number : 80 Question Id : 68634011021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafefad 5 9 oF 9 @R A1 WdH & NesE &1 3380 96 87
1. 3 & g% HIT
|
RiIEm
4. A%
Options :
68634043517. 1
68634043518. 2

68634043519. 3
68634043520. 4

| )

[FS]

Question Number : 81 Question Id : 68634011022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are types of asexual spores in context of identification of molds?

A Zygospores

B. Sporangiospores
C. Conidia

D. Oospores

E. Arthrospores

Choose the correct answer from the options given below:

1. A. C and B only

[ ]

.B. C and D only
3.A. B and E only
4. B. C and E only

Options :

68634043521. 1
68634043522. 2
68634043523. 3
68634043524, 4

Question Number : 81 Question Id : 68634011022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hiegd @1 YgdH & dad § FHafdiEad § O o9 9 siiffie dien] & JoR 62
A. SIS
B. TR dtem]
c. eiffsar

2 SR diey

i fu 0 f[daredl § U Uel 3R &1 90+ DI ;
1. %ad A, C AR only
2. %ad B.C 3R D
3.%dd A.B 3RE
4. $TAB. C 3RE

Options :

68634043521. 1
68634043522. 2
68634043523. 3
68634043524, 4



Question Number : 82 Question Id : 68634011023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the general construction and properties of flexible packaging materials used for potato chips
packaging among the following:

1. OPP - HOPE - OPP - PVdc copolymer
2. OPP - LDPE - OPP -PVdc copolymer

3. HDPE - HDPE + Ti0, copolymer
4. HDPE - TiO, - HDPE copolymer

Options :

68634043525. 1
68634043526. 2
68634043527. 3
68634043528. 4

Question Number : 82 Question Id : 68634011023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeRaa o ¥ onq foey &t Ui & o Suai &1 & arelt 30 o folT Guei & A= FHaior 3R qon
1 UgHH HIf :

1. OPP - HOPE - OPP - PVdc dgdgeid

| )

. OPP - LDPE - OPP -PVdc Hedgeld

L

. HDPE - HDPE + TiO, Hgaga®

4. HDPE - TiO, - HDPE Hgdga®

Options :

68634043525. 1
68634043526. 2
68634043527. 3
68634043528. 4

Question Number : 83 Question Id : 68634011024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

Nutrients Estimated average requirement (ICMR, 2020)
Calcium during lactation I ME0 pg/d

|Ascorbic acid during lactation| 1. [1000 mg/d

Folate during pregnancy L 1.9 mg/d
Vitamin B¢ during pregnancy | IV, |95 mg/d

SREE

Choose the correct answer from the options given below:
L. A~ B-IV C-1 D-llI
2. AV B-NI C-1 DI
3. Al B-1 C-IV D-1lI

4. A<l B~ C-1l D-1v

Options :

68634043529. 1
68634043530. 2
68634043531. 3
68634043532. 4

Question Number : 83 Question Id : 68634011024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

I II
mﬁ;ﬁ T9) (AT &ﬁﬂﬁ% ICMR 2020)
G & SR HictaH I [480 me/d
GTHAU & GRATED(a® 3| IL [1000 me/d
TYIG®I & GRIF Bt L [1.9 me/d
[ Hlﬁa@ﬂﬁa‘lﬂ:{ﬁaﬁ?&: IV |95 mg/d

fafafad fawert § I 98t S &1 997 DI :

1. A-ll B-Iv C-1 D=1

o[ofw]s

[

. B-IW B-1I C-1 D-II
3. A-ll B-1 C-1V D-Nl
4. Al Bl C-1I D-IV

Options :

68634043529. 1
68634043530. 2
68634043531. 3
68634043532. 4



Question Number : 84 Question Id : 68634011025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In bread making, the fermentation is gradual and also gradual carbon-di-oxide production is
preferred.

Reason R: The film forming property of gluten develops gradually in the dough.
In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true but R is NOT the correct explanation of A
3. Als true but R is false

4. Aisfalse but R is true

Options :

68634043533. 1
68634043534. 2
68634043535. 3
68634043536. 4

Question Number : 84 Question Id : 68634011025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 &1 YA AU U §, TP @ UT A (Assertion A) & ¥9 H fA1fEd g 3R G¥RT 39S PRUR (Reason
R)& U H

&ﬁ\wzgg:asaﬂﬁﬁiaﬂmﬁ%—%ﬁ%ﬁmﬂaﬂ%ﬁ?@ﬂm@g&ﬁaﬂm% i Iaare & wufisar
CEIGIE

HRUIR: T () B fEreet &1 &1 701 o F -k fosRa gar g
IRIGd HUA & ATdlD H, A fSu 0 fawedi 3§ I 98t IO &1 99 DI

1. ASRREA TUE IR R AT TSI TSN ©

2. ASIRREHI T E IR R, AP T ARIE &

3. A9 e Afb R 3T B

4. AT APTIRIT S

Options :

68634043533. 1
68634043534. 2
68634043535. 3
68634043536. 4



Question Number : 85 Question Id : 68634011026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT a physical hurdle during food preservation?

fa—y

. Aseptic packaging

| B

. Packaging film
3. Low water activity
4. Ultrasonication
Options :
68634043537. 1
68634043538. 2

68634043539. 3
68634043540. 4

Question Number : 85 Question Id : 68634011026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafeEd & 9 &1 9 9 WU & GRE U6 i S Tei g 2
T fre
O &1 &Y Tiafafd

fa—y

| )

[FN]

4. QRIY DR (e [HIHHEM)

Options :

68634043537. 1
68634043538. 2
68634043539. 3
68634043540. 4

Question Number : 86 Question Id : 68634011027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the stages of manufacturing Camellia Sinnensis preparation in correct sequence:

A. Drying

B. Packing

C. Withering

D. Fermentation
E. Grading

Choose the most appropriate answer from the options given below:

LLAD & B'E

b2

CEALEB,D
3.D.C.B.A.E
4. C.,D.A.E.B

Options :

68634043541. 1
68634043542. 2
68634043543. 3
68634043544. 4

Question Number : 86 Question Id : 68634011027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT HEAIRE TR P & =R DI He! A H oUaiedd DI -

A @
B. U S

C. IR
D. fopuad
E. 9Uifepur
A2 fau ¢ fde el § ¥ 999 Sugad IR &1 99 HIfo:

LLAD B E

-2

B AEB, D
3.D.C.B.A.E
4. C,D.A.E.B

Options :

68634043541. 1
68634043542. 2
68634043543. 3
68634043544. 4



Question Number : 87 Question Id : 68634011028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The intense pink color m cured meat is due to

1. Nitric oxide myoglobin

| B

. Nitroso myoglobin
3. Nitric oxide myochrome
4. Nitric oxide metmyoglobin
Options :
68634043545. 1
68634043546. 2

68634043547. 3
68634043548. 4

Question Number : 87 Question Id : 68634011028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR 71 & dite et 31 o RO ST g
1. EiCH Sfaures HaraiieH

Y

TSI A rdlfee
AElcH g s Ay

Options :

68634043545. 1
68634043546. 2
68634043547. 3
68634043548. 4

[
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=

Question Number : 88 Question Id : 68634011029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



With reference to the psychrometry chart, identify the important properties of air-water vapour mixtures that
may be located from the chart.

A, Moisture content

B. Flow velocity

C. Relative humidity

D. Density

E. Wet bulb temperature

Choose the correct answer from the options given below:

1. A, B. C and D only

b2

.B, C, D and E only
3.A. CandE only

4. A.D and E only

Options :

68634043549. 1
68634043550. 2
68634043551. 3
68634043552. 4

Question Number : 88 Question Id : 68634011029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H|$¢%}F§m =1E & e § gal-urt arg (Yo & 3+ He@yu] 1[ull B Ugdr= Siled ol 91¢ 4 & 8l
qod gl

A, FH B g
B. WdIg a1

C. Iruféa amgar
D. 99d

E. de-ged di9qH

i fau 0 f[daredl | U Uel 3R &1 904 Big;
1. $aAA.B.C IR D
2. %adB.C.D R E
3.%ad A, C 3IRE
4. $TAA.D IRE

Options :

68634043549. 1
68634043550. 2
68634043551. 3



68634043552. 4

Question Number : 89 Question Id : 68634011030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Food in a heated vacuum chamber will lose moisture at a lower temperature or at a faster rate than it would in a
chamber at atmospheric pressure.

Reason R: At constant temperature, a decrease in pressure results in an increase in the rate of boiling.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are trus and R is the correct explanation of A

[ ]

. Both A and R are true but R is NOT the correct explanation of A
3. Als true but R is false

4. Ais false but R is true

Options :

68634043553. 1
68634043554. 2
68634043555. 3
68634043556. 4

Question Number : 89 Question Id : 68634011030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & YA AU U §, UF SAf@YT A (Assertion A) & ¥ H &0 § 3IR G¥R1 39S PRIR (Reason
R)&F U H

STy A: TRIHST &a1d &1 qo H U T Haid &4 H 3@ YIS $H drgaH U= 31 g &2 9 ST
A= @ &

HRUIR: R TI0H |, 3819 & S & TR0 aa- & & J gfes el o
SWRIG] BYH & 3ATdiD H, 9 QU MU f[dw el T I To! 3R &1 99 HioIg:
1. ARREA TR R R AP TSI TR &

2. A 3R R T 9 ¢ OfthT R, A P T8I AR ol &
3ATIE AP R IR
4. ATAC AP RITTE

Options :

68634043553. 1

68634043554. 2
68634043555.3



68634043556. 4

Question Number : 90 Question Id : 68634011031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the primary objective of pasteurization in fruit juice (pH < 4.5)?
1. Destruction of spore forming bacteria
2. Removal of cloudiness
3. Enzyme inactivation
4. Destruction of pathogens
Options :
68634043557. 1
68634043558. 2

68634043559. 3
68634043560. 4

Question Number : 90 Question Id : 68634011031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wl & I () H Treie?or o1 wufis St e g
1. IS0 &1 gl Staropsil 1 4 &A1
YT B g
 ToTgH ffsmad
RIS BT TF BT

| )

L

=Y

Options :

68634043557. 1
68634043558. 2
68634043559. 3
68634043560. 4

Question Number : 91 Question Id : 68634011032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify among the following options. the water activity (a,,) range of intermediate moisture foods:

1.0.51 to 0.61

| )

.0.42 t0 0.52

[F¥]

. 0.60 to 0.84

4, 0.90 to 1.00

Options :

68634043561. 1
68634043562. 2
68634043563. 3
68634043564. 4

Question Number : 91 Question Id : 68634011032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pt el & 3 meradl 7et are @ Tan @ 9 TR (o) 407 F TeaE FRT
1.0.51 9 0.61

. 0.4280.52

2

3.0.60 T 0.84

4.0.90 T 1.00

Options :

68634043561. 1
68634043562. 2
68634043563. 3
68634043564. 4

Question Number : 92 Question Id : 68634011033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following processes depend on iron containing enzymes?

A. Calcification of bones

B. Synthesis of purines

C. Synthesis of carnitine

D. Synthesis of collagen

E. Conversion of carotene to active form of vitamin A

Choose the correct answer from the options given below:

1. A C.D and E only

[ ]

.A.BDandE only
3.B.C.D and E only
4. A B, Cand D only

Options :

68634043565. 1

68634043566. 2

68634043567. 3
68634043568. 4

Question Number : 92 Question Id : 68634011033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Frafefad @ 3 o1 Ut Uit s gad fbvasi i 1k sdl 82

A B3l o1 lchithpH

B. T &1 Gyl

C. BI-eTg ST TLagur

D. BlcloH &l JLyur

E. $Rife T f[derfiq 7 & 9ty &0 § = 0ideu]
i fu 0 f[daredl § U Uel 3R &1 90+ DI ;

1. BITA. C.D IR E

2. $GAA.B.D IR E

3. $9dB.C.D 3R E

4. BAAA.B.C IRD

Options :

68634043565. 1
68634043566. 2
68634043567. 3
68634043568. 4



Question Number : 93 Question Id : 68634011034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the amount of pmeapple juice (10% sugar content) and sugar syrup (60% sugar content) needed to
produce 50 kg fruit squash containing 15% sugar.

1. 25 kg pineapple juice mixed with 25 kg sugar syrup

| )

. 35 kg pincapple juice mixed with 15 kg sugar syrup
3. 50 kg pineapple juice mixed with 10 kg sugar syrup
4. 45 kg pineapple juice mixed with 5 kg sugar syrup

Options :

68634043569. 1

68634043570. 2

68634043571. 3
68634043572. 4

Question Number : 93 Question Id : 68634011034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15% =11 gad 50 feheil el ¥ & IAUIEA & e RIS MM o I (10% FIHh SR -l RRY
(60% D) I HETHT B MUET BT |

1. 25 oot =l Pt =2t 7 25 foodl oFAmma & = &1 fayo
15 el =011 ot =l F 35 fodl s & 39 &1 fayo
3. 10 fordtl =it @t 9=t 7 so fbl AR & 7 & fiyor
4. 5 Tl =1 ot =T H 45 fhdl S & 39 o1 fayur

[

Options :

68634043569. 1
68634043570. 2
68634043571. 3
68634043572. 4

Question Number : 94 Question Id : 68634011035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Instantization improves deconstitutability of dried milk.
Reason R: Instantization affects wettability, sinkability, dispersibility and solubility of particles in milk powder.

In the light of the above statements, choose the correct answer from the options given below.
1. Both A and R are trus and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Als true but R is false

4. Aisfalse but R is true

Options :

68634043573. 1
68634043574. 2
68634043575. 3
68634043576. 4

Question Number : 94 Question Id : 68634011035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 YA AU U §, UF SAf@YT A (Assertion A) & ¥ 1 [A11Ed & 3R G¥R1 8P PRIR (Reason R)
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Options :

68634043573. 1
68634043574. 2
68634043575. 3
68634043576. 4

Question Number : 95 Question Id : 68634011036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following processes involves removal of frozen water from food products?

1. Freezing

[ ]

. Freeze concentration

L]

. Freeze drying
4. Chilling

Options :

68634043577. 1
68634043578. 2
68634043579. 3
68634043580. 4

Question Number : 95 Question Id : 68634011036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafaa & 3 e ufear & @mr Sare! § 94 g1 UFl &1 g/ 9idl 82

1. ST (fpfsim)
X[ H1d (W1l S18T)

 gagiide (fafem)

Options :

68634043577. 1
68634043578. 2
68634043579. 3
68634043580. 4
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Question Number : 96 Question Id : 68634011037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the equipment shown in the given figure.
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1. Disc bowl centrifuge

2. Disk bowl filter press

3. Basket centrifuge

4. Tubular bowl centrifuge

Options :

68634043581. 1
68634043582. 2
68634043583. 3
68634043584. 4

Question Number : 96 Question Id : 68634011037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. IhaR SR HiEH (53 did Jiewgw)

2. FheR PeR] ftheex WY (F5%P 91d fheex U9
3. TP HOH S (FRehe Hiewo)

4. TCiGR BRI U igd (GIoger did Hicwrgw)

Options :
68634043581. 1



68634043582. 2
68634043583.3
68634043584. 4

Question Number : 97 Question Id : 68634011038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The temperature at which starch granules begin to swell rapidly and lose birefringence is known
as

1. Retrogradation temperature
2. Dextrinization temperature
3. Gelatinization temperature
4, Inversion temperature

Options :

68634043585. 1

68634043586. 2

68634043587. 3
68634043588. 4

Question Number : 97 Question Id : 68634011038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634043585. 1
68634043586. 2
68634043587. 3
68634043588. 4

Question Number : 98 Question Id : 68634011039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ropiness in bread is caused by which of the following mold?

1. Xanthomonas campestris

b2

. Geotrichum candidum

L¥ 5]

. Rhizopus stolonifer
4. Phytophora spp

Options :

68634043589. 1
68634043590. 2
68634043591. 3
68634043592. 4

Question Number : 98 Question Id : 68634011039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&s § = Fafafed 4 3 (69 Bhal & PRSIl 87
1. SUEHER Uy
ey EAlH%

 PIEcIP ] THUdl

Options :

68634043589. 1
68634043590. 2
68634043591. 3
68634043592. 4
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Question Number : 99 Question Id : 68634011040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following factor does NOT affect the drying process?
1. Temperature
2. Humidity
3. Time

4. Nutrient composition

Options :
68634043593. 1



68634043594. 2
68634043595. 3
68634043596. 4

Question Number : 99 Question Id : 68634011040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafeRad o ¥ ofiF 91 PRE Yh Hichal &1 HHTdd el &al o2
1. AHHE
A

3.9HT

[

4. YN ded -l

Options :

68634043593. 1
68634043594. 2
68634043595. 3
68634043596. 4

Question Number : 100 Question Id : 68634011041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A food product has a viscosity of 20 centipoise. Its viscosity expressed in Pa.s is

1. 200 Pa.s

| )

2x10° Pas
3.2x107 Pass

4,2x 102 Pas

Options :

68634043597. 1
68634043598. 2
68634043599. 3
68634043600. 4

Question Number : 100 Question Id : 68634011041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Us @re et § 20 SAuisy &1 faufaurge 81 pas H o0ad 591 faufaurege il

1. 200 Pa.s

b2

2x10% Pas
3.2x107 Pas

4. 2x 102 Pass

Options :

68634043597. 1
68634043598. 2
68634043599. 3
68634043600. 4



